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Question No. 1 is compulsory.
Attempt any three of the remaining.
Figures to the right indicate full marks.

Find the Laplace transform of te* sin 4t.
Find half-range cosine series for f{x)=¢, 0<x<I.
Isf(z) = Elnllylic’

@nt

Prove that Vx(axViogr) = Z—— ‘where 3 is a constant vector.

Find the Z-transform °rfT)l if Jz}<5.
ic & find the
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analytic

1£V=3xy + 6xy-y’, show that V is h:
function.
Obtain Fourier series for the function
© 142, —rsx<0
x) =

l-l—:.osxsu

2 sl 1

hence deduce that == 5+ 5+ 5+
(s42)? ]‘lﬂ ution

Find L' (52 +4548)"
Mth:mommm
(Zﬂ)

Lsin (), co (7). i (), co
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Verify Green’s theorem for '(e -xy?)dx 4 (ye" +y My

WhurClubecluedc\mebanﬂedbyy’- x&xi=y.

Find Laplace transiorm of f(x) =
Show that the vector, F = (x’-yz)n(yx -)j+
irrotational and hence, find ¢ such that F = V ¢.
Find Fourier series for f(x) in (0, 27),
) = x, 0<xs=

2t-xRSXS 2N
hence deduce that
SRt

Use Gauss’s Divergence theorem to evaluate

K for 0<t<T & f{t) = f(t+T).

(22 =xy) kis

j]ﬂ.hwnmhzui+xy|+zkw«mm;immmedbynnqliudmf

+y2=4 2=0,2=6.
Find inverse Z - transform of f(x) = === m‘_n Wzl >
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@) Find L log (%))
) Find L [0

45413,

Solve (DH3D+2) y = 2(B+t+1) with y(0) = 2 & y' (0) = 0.
Find the bilinear transformation which maps the points 0, i, -2i of z-planc onto
the points -4i, =, 0 respectively of w-plane. Also obtain fixed points of the
transformation.
Find Fourier sine integral of

0<x<1
f(x) = {’;—u<x<z

0, x>2
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Correction:

Q. 2(a)
Read As:

Instead of :

Find the Z-transform of.
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Correction:

Q. 4(a)

Read As

Find laplace transform of f(t)=
Instead of:

Find laplace transform of f(x)=
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